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3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10%t) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?
Options :
86435112961, 20 MHz

86435112962, 8 GHz

86435112963, 201 GHz

86435112964, 1987.5 MHz

Question Number : 1 Question Id : 8643514321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

60lIE QIPQ@ @e@e C(t)=25sin(2.512x 10'%) @ 9@ QAIQ @°6R% m(t) =5 sin (1.57 x 10%) QIa
2IIF F1PRE @RISR 9Q° 66T 2I6ER| F:I6ae AEIRd @aIdRl | AT A°6ReTa QUd dY 6960
62Q ?

Options :

86435112961, 20 MHz

86435112962, 8 GHz

86435112963, 201 GHz

86435112964, 1987.5 MHz

Question Number : 2 Question Id : 8643514322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2/89



3/18/2021
Two cells of emf 2E and E with internal resistance r, and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
[\ ||
A !
e
R
Options :
"
86435112965. -~
|
T | FE
86435112966. ~
T
86435112967.
r,+1,
86435112968.

Question Number : 2 Question Id : 8643514322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

daNges UNLAR goeaId ry 99° 1, 89l @.4A. 4T 2E @ E 42 9aIf 9940, 6q19q 66T QIey
goeqial (R) 42 6g416Q Q°6didl @aIgal (D866 ) | 660696 daf 6180 6715 aRb F1:6a JaQ
aidey g7 (F6al) 621R2Id, 69606968 R @ (a4 6268 :

2E E
[y 1
! !
LA A
R
Options :
I
86435112965. =
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'r1 |
g
86435112966. ~
1=y
86435112967.
T, - rz
86435112968.

Question Number : 3 Question Id : 8643514323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms : along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435112960, Y(x, )=0.03 [ sin 5.1x— (0.2 x 109t ]

Y(x, )=0.03 [ sin 5.1x— (1.5 x 10¥)t ]
86435112970.

R e i \
86435112971, Y& 9=0.06 [ sin 5.1x—(1.5>10°)t ]

O e o .
86435112072, Y, 1)=0.06 [ sin 0.8x— (0.5 x10°)t ]

Question Number : 3 Question Id : 8643514323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

245 Hz ZIQ8Q 9@ 99 00 300 ms ! 69660 Qe x-Ud G06a 0 @92 | 9asta g96eia
39 Q@I 9] 98] 6 cm RIY 97 FGE | @ JPHIR CAFTR FIFER IHRE '8 629 ?
Options :

06435112060, L& 9 =0.08 [ sin 5.1x (0.2 x 10%)t |

Y(x, ) =0.03 [ sin 5.1x — (1.5 x 103t |
86435112970.

M S S X
86435112971, Y @ =0.06 [ sin 5.1x = (1.5>10°)t ]
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R e .
86435112972, Y0, 1)=0.06 [ sin 0.8x— (0.5 x10°)t ]

Question Number : 4 Question Id : 8643514324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I at a height of 11R above
the surface of ‘P, R being the radius of ‘I". The time period of another satellite in hours at a

height of 2R from the surface of ‘T is . ‘P has the time period of 24 hours.
Options :
86435112973, 2

86435112974, 632

86435112975. 3

6
N
86435112976, <=

Question Number : 4 Question Id : 8643514324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

665N A @age ¥ 69RIFIQ1 RUge 910a6es P 0Ig 11R @e9I60 9@ aaend @qaa, R 6268
d291a P @ QIS | P 01 2R 26916a 29! 2998 20999 298 99i6a 629 |
PQ 29699 6208 24 Q4 |

Options :

86435112973, °

86435112974, V2

86435112975. 3
6
N
86435112976, ¥ =

Question Number : 5 Question Id : 8643514325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of

mass m moving, with a speed v alnng the Iinejcrf_nf_ng A and B collides with A. The maximum

compression in the spring is

=

C A
m | —» m L7y oy o] m

Options :
m
B
86435112977. V2K
m
i)
2K
86435112978.

\/IHIJ
K
86435112979.

86435112980.

Question Number : 5 Question Id : 8643514325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q@ §a712a g8 9969 90 A9RIEa 291 g6e1e m 94Q G2 Qa0 IRIeR 98 A ¥9° B @ RIS
6add L 9o e ¥oIF K 291 9@ 2199 e 901 9°g9 aQIdiad | A 9e° B q 6416 @929 694l
QYER v 69C6R 60989 m @gg 994 9@ 801 98, C T 9@, A 42 MR 627l | e 6282Q|
QGRS LERST 629 :

C A B
m | —» m LY Y Yy Yy ol m

Options :

m

-
86435112977. V2K
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86435112978.

\/mt:
86435112979.

86435112980.

Question Number : 6 Question Id : 8643514326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring

constants K 1 and I'fi2 respectively. If the maximum velocities during oscillations are equal,
the ratio of the amplitude of A and B is

Options :
: K,

K2

86435112981.

Kq
VK2

86435112982.

86435112983, 1

86435112984, 1

Question Number : 6 Question Id : 8643514326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR @gQ @8 QRL @del A 9e° B @ CaIgen 4 Yoiw K, 9e° K, 29l @@ @gQeele Juea
ERICIGE | 9T 6RINE ANL6A ANUR 0H6IE QRF AAIR D9, 6969 A " B Q AR AFAID
629 :

Options :
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86435112981, -~
K4
86435112982, ¥ 2
.

86435112983, 1

K,

s

K4
86435112984.

Question Number : 7 Question Id : 8643514327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11
List - 1

(a) Phase difference between current and voltage (1)

ina purel}r resistive AC circuit

(b) Phase difference between current and voltage in  (ii)

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii)

a pure capacifive AC circuit

(d) Phase difference between current and voltage in  (iv)

an LCE series circuil

List - 11
.TI'
E; current leads vnltage

ZETO

o
E; current lags voltage

g I(KC KL]
Y, R r

Choose the most appropriate answer from the options given below :

Options :

86435112085, (@ (D), (D)), (0)-(iv), (d)-(ii)

26435112986, (@) (i), (b)-(iv), (c)-(ii1), (d)-(1)
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86435112987, 2 (1), (b)-(iid), (S)-(0), (d)-(iv)

s6435112085 (@-(iD), (D)-(ii), (©-(iv), (d)-(i)

Question Number : 7 Question Id : 8643514327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IRl -1 92 QIARI - 11 g e :
QIaRl -1 QIR - 11

i - - 2 e . <
(a) 609N IgF Q4G gusaldl AC (1) 5 Quie, 69le YN diday Olg) diesimalrd |

JR02en Qe 6916 Ye° 99
Qigiay F2168 FRI1ea |

(b) €QIT @ga gediar afgaes (ii) g (Feau)
34Q, 6916 ¥e° Fee Qi A6R
aele |
- - - ~ - T - - «
(c) 6OIEN QR UGGl aRaAca SQI6, (i) —; F6, 6316 FAe Al Olf JeaRAN |

6gQI% 9Q° QR QIS 268 @189 |

~ . ' Xc =X
(d) 648€16a @°ge LCR 98a2eq agie, (iv) tan 1[%}

6916 96° GRe QI 260 @RI |
P6R GPICINAR FREYFR FRIG ATINS VUYS VRAE Qg
Options :

86435112085, (@ (D), (D)(iii), (0)-(iv), (d)-(ii)

26435112986, (@) (i), (b)-(iv), (c)-(ii1), (d)-(1)
(a)-(i1), (b)-(iii), (c)-(1), (d)-(iv)

86435112987.

86435112988, (@) (1), (b)-(iii), (¢)-(iv), (d)~(1)
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Question Number : 8 Question Id : 8643514328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435112989 nductive reactance will be doubled and current will be halved.

26435112990, Inductive reactance will be halved and current will be doubled.

86435112991 Both, inductive reactance and current will be halved.

86435112992, Both, it‘u:luc’r_"r'_ng reactance and current will be doubled.

Question Number : 8 Question Id : 8643514328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d@ 6215 Gga 6819 d8aea 2IQE 2kl 62NN, 6669 968I9e doaI 8 9940, 69106 ARG
a8eae caa ?

Options :
26435112089, 269198 96AIE QAGE 62ARLQ I QG 6316 Bl 629 |

86435112990. gedlive gouly ddl 6Rinde 9e° Q@Qie, 6419 Qblblsl 6Rlklde |

86435112991 BElkl, dedlee doulle 8 @uie, 69Iv 2l 6LIpde |

86435112992, B8, GEEILT Derle 6 @G 6316 YRGS 621G |

Question Number : 9 Question Id : 8643514329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius (.5 m is rolling with an initial speed of 1 ms I goes up an
inclined plane which makes an angle of 30° with the horizontal plane, without slipping.

How long will the sphere take to return to the starting point A ?

A 30

Options :

86435112993, 000 S

86435112994, U278

86435112995, 022 'S

86435112996, -80S

Question Number : 9 Question Id : 8643514329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
garieq driee 42 30° 6ald @galal GElIGN 2IRE da6q 2kg @99 G 0.5 m QS FIL 9Q 6EIRG

gIeAR 626 1 ms~! 60 2@ AH9F AIRAUT | 6RINRT O 96 A @ 628 21dQ AR 660 IAY
6RQ ?

M 30

Options :

86435112993, 000 s

86435112994, U978

86435112995, V02 S
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86435112996, -80S

Question Number : 10 Question Id : 8643514330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

1
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~2)

Options :

1
86435112997, 2.0 ms

1
86435112998, 2-20 ms

1
86435112999, 30 ms

1
86435113000, 20 ms

Question Number : 10 Question Id : 8643514330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
§d96 5 m KEelg) 6015 QR Q@R 2eikEl | 921 QAR 60 SRR, dP6eeR 12 6IaQl QI

81 12 = i 5
— QIEQ 202N | QARG 2RIIA 696 F9ad @ | (¥e g=10ms ™ 2)

100
Options :

1
86435112997, 2.0 ms

1
86435112998, 220 ms

1
86435112999, 3-0 ms

1
86435113000, 20 ms

Question Number : 11 Question Id : 8643514331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The velocity of a particle is v =v, + gt + F. Its position is x=0 at t=0; then its displacement
after time (t=1) is :
Options :

vy % +EF
86435113001. =

2 h
86435113002, 70 28 +3F

U
86435113003.

(3 =]
w3 |

86435113004, 0P8 TF

Question Number : 11 Question Id : 8643514331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
cEIE QEIQIQ A8696 v=1,+gt+Ft? 26E | t=0 AAUER I2IQ ULWF x=0 2T, 606 (t=1)

deIg 96 9919 91U 699 :
Options :

(% W a=
!

vy
86435113001.

2 q
86435113002, Jo 28 +3F

vy
86435113003.

(N =]
w2 |

86435113004, 0 T8 TF

Question Number : 12 Question Id : 8643514332 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A hairpin like shape as shown in figure is made by bending a long current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle ?

I

-
Ead

= M

Options :

86435113005.

86435113006.

86435113007.

86435113008.

Question Number : 12 Question Id : 8643514332 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6QlIEN @Al GQYE, 6910121 BI0g EUIFIYIR C2AIQ R NN IR (D6a cadiaRl a8 ) |

PEQEE 69960 2080 P SR060 QAN 6380 URAId 6R6062Q ?

I

L 3

Options :

86435113005.

86435113006.

.““_ﬂl(z

27r

i 1

)
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86435113007.

86435113008.

Question Number : 13 Question Id : 8643514333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?

Options :

86435113009, TR SRR

86435113010, balmer series

86435113011, Lyman series

86435113012, Prackett series

Question Number : 13 Question Id : 8643514333 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R@AIE 990lg S6e adya 6g416a 606 4P 6adl M0 FRAIM | FRYIF JAIRR QdIRT
6@ Y 6961 QAR 6AGER Qe ?

Options :

26435113009, TIE6QR AU 6géN

86435113010, /=18 Ui 6gell

86435113011, IR ALIG 6gell

86435113012, /6@ ddiid 694N

Question Number : 14 Question Id : 8643514334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

15/89
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Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are v and v, respectively, then

Options :
. g .
N 2
P —Tg = [F{"h .Jlrz.\]j|
86435113013.
. 2 2h
v —% =—lf1 —hl
86435113014. m
71 5
21 2
™ + Uy = [—{.ﬁ ' h]]
86435113015, m
21
03 +v5 = =f1 + £l
86435113016. .

Question Number : 14 Question Id : 8643514334 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QRE IRIRE ACRIQ ACP IYG (TSI QUCAY) f; 9 f, ULEQ ACAIR G248 ¥R | AT
QLA TECI-EERG A0 GBEE QEE QaFEF v, 9° v, D4, 60EQ :
Options :

=

21
o I’2=[?:{f1 fz.‘l}

86435113013.
y) 2 2h
7 — o =—1f1 —fl
86435113014. m
1
2h 2
 +o02 =|—(f1 +f2)
86435113015. m

2 2 2h
) +03 = —[f1 +/2]
86435113016. .

Question Number : 15 Question Id : 8643514335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

16/89
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Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

A Dﬁ
L
—-

B
Options :
86435113017, AND Gate

86435113018, NAND Gate

86435113019, XOR Gate

86435113020, VOR Gate

Question Number : 15 Question Id : 8643514335 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
G678 6RUS 98 080e 9@eed 26T 7

A D:c
L ,
-

B
Options :

86435113017. g L

86435113018. LY

86435113019, <OR 666!

86435113020, VOR 6616,

Question Number : 16 Question Id : 8643514336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 [} resistance is connected across BD. Calculate the current thrcrugh the galvarmmeter

when a potential difference of 10 V is maintained across AC.

Options :

86435113021, =44 nA

86435113022, 244 mA

86435113023, +87 KA

86435113024, 187 mA

Question Number : 16 Question Id : 8643514336 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
296a 24I0IR2RI 2QIER 6916 a5 6]IG, 3R R FIL6ER Y6, gOcaIM FAF | BD rIcq 19

15 () go6aid 49l SIRRIERINcR RAIQIRE | 6d60696@ AC F6a 10 V @ 289 diday SInaaldn,
JINGIERIFCR Fal 69R IRl GQ 690 PRI @9 |

Options :

18/89
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86435113021, =44 pA

86435113022, 244 mA

86435113023, +87 BA

86435113024, 187 mA

Question Number : 17 Question Id : 8643514337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12 cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=10.693 )

Options :
86435113025, 1167107 kg 57

a 2 1
86435113026, 09107 kg s

rd 3 1
86435113027, 2/ <1077 kg's

2 1
86435113028, >0 <107 kg s

Question Number : 17 Question Id : 8643514337 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
66lIcN Jeren @°ge 1 kg @49 9da 9@ 9aQ 12 am @ JI0A AR 6QIRR @RUdwl | 2 ARG
d6Q 2N 6 cm § FAGR | 97 66 AR KA 2D YoIF Fda @a | (uQ In 2=0.693)
Options :

E 3 J.
86435113025, 16X 10° kg s

3 2 1
86435113026, 09 %107 kg s

rr 3 1
86435113027, >/ ¥ 107" kg's

19/89
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3.3 % 102 1
86435113028, -2 < 107 kg s

Question Number : 18 Question Id : 8643514338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and 3 is the ratio of molar

C ;
specific heats for polyatomic gas [[:‘: = C—PW then the value of 5 is :
8 V.
Options :
1.25
86435113029.

| 1.
86435113030.

86435113031, 132

86435113032, 1-02

Question Number : 18 Question Id : 8643514338 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
d@ 9 6FIRA 69IGN 92 UarlY Ada IR QEE AT @ QLA ¥9° Q2 JArlg Y9a SNl
Y

% S | C
crIRIG 582 QIONIGE! 9Fea AQaIe (lﬂ = C—T’ | 246869 B @ AN 26T :
LY ll'q-'r r

Options :
1.25
86435113029.

i B2
86435113030.

86435113031. 1.35

86435113032, 1-02

Question Number : 19 Question Id : 8643514339 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

20/89
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Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

'

P

«—— adiabatic

isothermal

W

(c)

v—>

«——isothermal

adiabatic

(d)

Options :

86435113033.
86435113034. (

86435113035, ©

86435113036, \©)

Question Number : 19 Question Id : 8643514339 Question Type : MCQ Option Shuffling : Yes Is

T—>

(a) only

b) and (c)

and (a)

and (d)

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

:

/ : isothermal

adiabatic

.
i

f

T—>

isothe rmal
8, I

// :ﬁja batic

W

T—>
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Qaf G 010609 gFal OIR 69we A0k ARE 266 ?

A A )
T «— adiabatic T / »f isothermal
P P

isothermal
(a) (b) -
adiabatic
v—> s

A F 9
T ¢— isothermal T isothe rmal
L' p

adiabatic R
(C} \< {d} / adiabatic

e
-

T—> T—>

w

Options :
86435113033, °79% (@)

86435113034, (P) 9" (0)

86435113035, (&) 9¢° (3)

86435113036, () 9¢° (d)

Question Number : 20 Question Id : 8643514340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An object is located at 2 km beneath the surface of the water. If the fractional compression

AV
~ is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~* and g=9.8 ms ™ 2]
Options :

o s "
86435113037, 1.96<107 Nm

22/89
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86435113038, 1-44 %104 Nm~ =

]

Y VA o
86435113039, 2-267¢107 Nm

86435113040, 144x107 Nm ™2

Question Number : 20 Question Id : 8643514340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- o AV .
6QITN @4 P@dd6 2km G6 UYEE | UW 1.36% wgi*da Q6w TS @, ERER RUTINE guow

a2 APGH Qe9IRe Yoo 2QAIe 629 :
(ge@ : @9 Agel 1000 kgm 3 9e° g=9.8 ms ~2)
Options :

s 5
86435113037, 1:96 <107 Nm

"}

86435113038, 144 %107 Nm~2

V6 a9 2
86435113039, 2-26%10° Nm

86435113040, 144 %107 Nm ™2

Physics Section B

Section Id : 864351290
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351290
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643514341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A 2 pF capacitor C is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C 5 on equilibrium condition is _ pC. (Round off to the Nearest Integer)
S
S1 S2
2 uF 8 nF
1ov] Tc, Te,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643514341 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

daler 6alIC QUIEER! MR @RILIR 2 uF @88 9@ A18g C, @ 10V Q e adaig 919
RRIGRI | Y2ID6R QUIEERIR I BZIGR Yo 868 8 uF 348 Y@ 919217 88 C, A2 Q69

RRIGRI | I°eRe 2eAIEa C, 60 2] JIea ARG uC 266 | (Gaeoen gdaravea
daid @)
S S
o 1 N 2
2 uF 8 uF
10V Cq C,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

24/89



3/18/2021
A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is (0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)

[Take g =10 ms 2]

W
E

k 4
i

i
LS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643514342 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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5 kg @49 &9l 99 Q1084 ad6a 4 kg 999 29 9@ Q0@ 91 62IA8 | AT Q10 99° gISR F6R
Add Yo 0.5 29, RI0F 2R ARY QY FQ UFTER ULRT PR JRINAR AR 99
(o N | (Feeeq gdareica 9919 /Q)

[48 g=10 ms ™ 7]

L
M

—

S
r

L

W

i
*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643514343 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

Hrd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelength of light inside the surface is 5 times the wavelength in air. The

: . X ;
radius of the curved surface is — m . The value of ‘%" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 23 Question Id : 8643514343 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

665 @ae 99 el d96q Olg 10 m dgea 98 6202Ql (FIF9REea adl JIRaQl) 9oaas Q1g9e

" 2 : .
99" 9g0R QTG 9RQR 1 96 U6E | IOR FIGR UCAIRA Fae 61 QIATAGR Gae 6Idia

i
13

Ll

16 266 | PRIIRER QT 6298 — m | ¥ @ JAY 6298 [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514344 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

&
ﬁ E. Where the value of xr=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643514344 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3 m 996I6a 9229 100 W 99g 219291 90ad QIel 9e 65919e 6999 01961 E 26g | 694

- . . - X
@l 9eelet awdel 60 W ameg @de d@ad QIol a9 E@@_‘-IE‘Q cHEe P19el W \/;E,

6dR0I6Q x= 266 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643514345 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity E=3E]€ﬂ and resistivity

p=025 dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10" times the displacement current density after time t = 800 The value of x is

(Given : e 9 x 10° Nm“C™2)
dmeg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643514345 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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f =9x10% Hz 2I9Rcq AL 200 dQI6FIoE £ =280, 99° go6qiadl p=0.25 Om. Q%2 |
P8R @a 69159 AR AIRLIRI UIFER ANT PR YPITR IG° 9@ gOUeE! FRe @g

g 1 o N
V)=V, sin@mft) @61 SLIeRI | QEeald t= =S a6a aaeRel A9 6916 ARSI FAAR

@@_‘-I@‘ 6410 digeia 107 gé eRigdiM | x @ ¢mY 6T

1 :
(o| : — 9 x 10° Nm?C™?)
—1-’:T!:'{].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643514346 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = %Eﬂ,; I %Eﬁ ; with Eg = 4.0 x 1[]3%. The

flux of this field through a rectangular surface area 0.4 m- parallel to the Y~ Z plane is
Nm?C L
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643514346 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sy

66T QIRER Ey = 4.0 X 1[13% A2 6AYER 69¢ E = =Eoi %Eﬂ; QR FUARE | Y-Z

99 AA1206a &9l 0.4 m? 6AGTR QdF Y@ 2LeIRIA JIe F6R AIRgQl Y8 68609 2RQIe
62R8 Nm?C~ 1.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643514347 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

: . G X a
mass of the quarter disc (the shaded area) is at the position o where
g T

g |

W=

xiz . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643514347 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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S9fea 9IAag o AQ 6aITN M 9gRdde IR 6ag @HICIead | 9gdrd 62 (536 68Q) @ 999
d X a o i) gt o . )
= (— g —W 6Q 2SEe | 600 x 6968 | (Feoen gdaeiica aade )
L - m)

(Pe6a GHILIRNARI 6860 6AFTR a 26T

4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643514348 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hu:-d}-' of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the body move by applying the minimum possible force
F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms™ 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 28 Question Id : 8643514348 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o s e = ik i |
1 kg @9 @68 9@ 99 6615 gafIee 9I6a QPR A9l 92 92Ia § 494 YIw AUCT 5 [
AGFQ AR @@ F N g6aie @8 928q 6691¢ aaudelq 86 @aleql | F @ ¢y 68
(Feeen gdacauiea)
[ 22 g =10 ms ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514349 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Ugrt. If

b
Bohr’s quantization conditions are applied, radii of possible orbitals r, vary with n« , where

o 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643514349 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9@ 6010 G969 689 Ur)=Uy? 68 m @gq G848 9@ QaIEY Qaeio @Fea 66 @qaa | 4
6QI90w P9E60d (FNINCRAR) AEGER J6AIT AN, AN ARPIN JFa MIAE 1, PR

n= ZIKINER 09960 62IRaIN, 6980I6R a 2166 |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 30 Question Id : 8643514350 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 cm® of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

B
dius | —
radius [4{_}72

L

%1072 ¢m. Then the thickness of oleic acid layer will be x 10~ 14 m.

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643514350 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AQILIR 9671 BRR YEea YR A1GIRE 98 IHE ARNINER 676 64, 2R €ILel 0.01 cm? GRS 1&g

1

2 3 3 - s
g8 9@ cm® 94 62l | ILTER F6A (KW %1077 cm QUQIS 589 100 CHIAINIR 651DIQ
Ly

QF6Q0RI A8 9@ 999a 4 cm? 6FETR I Y@ TR AL (Ne-2185R RIECRR) TR e |
6069 GRa 1dQ 28R 6AI6eR ¥ x10~ ¥ m 629, 6ROIER x Q FJaN 26T [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

33/89



3/18/2021

Chemistry Section A

Section Id : 864351291
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351291
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643514351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435113051. s

NO,
86435113052. =

O;
86435113053. -

86435113054. -

Question Number : 31 Question Id : 8643514351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)

PEAINE F2I5 AAREEHS 2E CRT :

B

Options :

86435113051. e

NO,
86435113052. =

D?
86435113053, -
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CL,O
86435113054,

Question Number : 32 Question Id : 8643514352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

(©) Ny(g) + 3H,(g) — 2NH;(g)

(D) Adsorption of COjg) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
86435113055, () (B), (C) and (D) only

26435113056, (A) (©) and (E) only

86435113057, (/%) and (E) only

86435113058, (0) and (C) only

Question Number : 32 Question Id : 8643514352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FORYE AUQ 699 JAIDIER 62T 21T QI ?
(A) 0°C 2IaA1GIEa PRa @aae 2Head |
(B) 10°C QIOAIGIER 9Ra 9 YHead |
(C) Ny(g) + 3H,(g) — 2NHs;(g)

(D) &6 QUGEISER CO(g) o ANEAITE |
(E) @@6& NaCl @ 9o |

Faeae 9ag g A0k 289 QI8 :

Options :

86435113055. (&) (B), (C) 99° (D) 6@e@
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86435113056, (&) (€) N (E) 6a9&

86435113057, (A) 9e° (E) eaew

86435113058, (B) 967 (C) 6@e@

Question Number : 33 Question Id : 8643514353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :
Options :
a2+
86435113059, 02

b
86435113060, 12

POj
86435113061

503
86435113062.

Question Number : 33 Question Id : 8643514353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ Fg9Ne ARe fAIFRRd aIR AGINR EFREREE BN AR B(YeR URIGE coa8
Options :
a2t
86435113059, 02

b
86435113060, V2

PO
86435113061

SO7
86435113062
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Question Number : 34 Question Id : 8643514354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sels is :

Options :

86435113063, Be — Al

86435113064, B = Si

86435113065, -1-Na

86435113066, =~ M8

Question Number : 34 Question Id : 8643514354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PR AIRTa 99 AL P A AADAeT 0I5 6 26T :
Options :

86435113063, be — Al
86435113064, B~ St

86435113065, -1~ Na

86435113066, -~ M8

Question Number : 35 Question Id : 8643514355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - I1 :

List - 1 List - 11
(a) Haematite () AlLO;xH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (iii) CuCO5;Cu(OH),
(d) Malachite (iv) FeyO,

Choose the correct answer from the options given below :

Options :

86435113067, @)D, (b)-(iii), (c)~(ii), (d)-(iv)
86435113068, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)
86435113069, (@), (b)-(1), (c)-(i), (d)-(iii)

26435113070, @)-(1), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 35 Question Id : 8643514355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eimal -1 986 oMl - 11 g G .
== | QAR - 11

(a) GLAIGIRG (i) ALO,;xH,O

(b) QYI@E (i) Fe,Oj,

(c) flegeiwe (i) CuCO4Cu(OH),
(d) RRAG (iv) FesO,

FORge @@E Flilg 0] YENE QI :

Options :

86435113067, (@-(1), (b)-(iii), (c)-(ii), (d)-(iv)
86435113068. (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)
86435113060, @-(iV), (B)-(D), (©)-(ii), (d)-(iii)

86435113070, @ (), (B)=(iid), (c)-(i), (d)-Gv)
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Question Number : 36 Question Id : 8643514356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435113071, 2
86435113072,  VHp and —COOH
NH, and —SO;H
86435113073, 2 ,
26435113074, 5C3H and —COOH

Question Number : 36 Question Id : 8643514356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6@C19Q ¥9° YFIEe Z9RLQR CORRER YR AReer gd d @ Qe Qo @Qae JUAegea

Qew 6298 :
Options :

SO,H 9e° —NH,
86435113071. :

qeEe W

86435113072,  [VH, &% —COOH

NH, @&° —SO;H
86435113073, 2 ;

86435113074, — S03H 9@ —COOH

Question Number : 37 Question Id : 8643514357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH,Cl
86435113075. 4
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Ca(OH),
86435113076. =

CaCl,
86435113077. =

NaHCO
86435113078, 3

Question Number : 37 Question Id : 8643514357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aRee gaIRig NH, @ g9a8gid aaaea 600 ageie QeUaIes Fig 6615 adeie 9@ 69a8 :
Options :

NH (1

86435113075. .

Ca(OH),
86435113076. =

CaCl,
86435113077. =

NaHCO
86435113078, -3

Question Number : 38 Question Id : 8643514358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :
sea3s113079, o and N

N,O and NO,
86435113080. = S

NO and NO,
8643511308]1. =

N,O and N,O,
86435113082. -~ il

Question Number : 38 Question Id : 8643514358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

QIRESIERRR QITIN ARG CAPITY YOTAEG K9 AAILIQE CLRE :

Options :

86435113079, INO 987 N,O
N,O 4&° NO,

86435113080, =

NO e* NO,
86435113081. 2

N,O &° N,O,
86435113082, e

Question Number : 39 Question Id : 8643514359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The common positive oxidation states for an element with atomic number 24, are :

Options :

86435113083, t1to +6

86435113084, T2 to +6

86435113085, ' Land +3to +6

86435113086, © 1 and +3

Question Number : 39 Question Id : 8643514359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AIRAIEIEE A°¢ll 24 29I 6FAIRRTR QIS RIS 2edl CLRE :

Options :

86435113083, T 18 16
P

86435113084, T2 106

86435113085, T1°@° +3q +6
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86435113086, 11997 +3

Question Number : 40 Question Id : 8643514360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) [Co(NHi)gl [Cr(CN)g (i  Linkage isomerism
(b) [Co(NHj); (NO,),] (i) Solvate isomerism
(c) [Cr(H,O).]Cly (iii) Co-ordination isomerism
(d) C:'s-[CrClz{nx}ZF (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
36435113087, (@)k-(1), (b)-(ii), (c)-(iii), (d)-(iv)

26435113088, (@), (P)-(1), (c)-(iii), (d)-(iv)
86435113089, (@)-(iii), (b)-(i), (¢)-(ii), (d)-(iv)

86435113000, @) (b)-(i), (c)-(iii), (d)-(i)

Question Number : 40 Question Id : 8643514360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IRRI -1 98¢ QIR - Il § 8212 -
QIMSI - 1 ll=l=Ta ||
(a) [Co(NH3)g [Cr(CN)g i) @eER ALV
(b)  [Co(NH;), (NO,),] i) @G ARG
(c) [Cr(H,0)]CL, iii) QWIACAM AAQAIE
(d) cis-[CrCl,(ox),]? iv) 98 e
G¢ 998 (g 0K @ef QU9 :

Options :
86435113087, (@)-(1), (b)-(i1), (c)-(iii), (d)-(iv)

86435113088, @), (b)~(1), (c)-(iii), (d)-(iv)
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86435113089. (a)-(iii), (b)-(1), (c)-(i1), (d)-(iv)

26435113090, (@7 V), (b)-(i1), (c)-(iii), (d)-(i)

Question Number : 41 Question Id : 8643514361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :
Options :
86435113091, (A) only

86435113092, (B) and (D) only

86435113093, (©) only

86435113094, () only

Question Number : 41 Question Id : 8643514361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GORYE FuG 609 B3 (969) Y6CITERIR FER6R YR 26T ?
(A) W@ IR MR

(B) 2GHS CEFIHe MNeDQ

(C) eRdagen e 289 29dq

(D) e@ddea 986 2RI 919 689 9F6a Qi 98 Q6

GORAYS 908 M2Q ATRIR VAYS WE9T QIS
Options :

86435113091, (A) 699

qoe . ~
86435113002, (B) ¥9° (D) 646
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R .l'.;'l ]
86435113093. 2

Al la
86435113094. e

Question Number : 42 Question Id : 8643514362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?

Options :
86435113095. e
86435113096. CHp — N,

fj

Sy
86435113097. N

T + - —

86435113008, ~ N=NCI

Question Number : 42 Question Id : 8643514362 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GRG0 6aw 6T Tipl 6PRRI9IR JAIRIEa RIRERIEERE 2INeR/ PIRe @RIRUIEe ?

Options :
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-

86435113095,  NO2

-

86435113096. CH, —NHj,

\

/

86435113097. N

-

+
86435113008, ~ N=NCl

Question Number : 43 Question Id : 8643514363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435113099, (A) only

86435113100, (B) only

86435113101, (A) and (C) only

86435113102, (P) and (C) only
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Question Number : 43 Question Id : 8643514363 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 981 QUIRLTIaR A0 6aI9l (99e) 69a8 :
(A) AgCN/KCN

(B) RCOOAg/RCOOK

(C) AgNO,/KNO,

(D) Agl/KI

Options :
86435113099, (4) 69

86435113100, (B) 659

(A) 9&° (C) 6ReR
86435113101,

26435113102, (B) 997 (C) 6a9@

Question Number : 44 Question Id : 8643514364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : 2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,,.

Choose the correct option :

Options :

86435113103. Both statement 1 and statement Il are correct

86435113104, Both statement 1 and statement 1l are incorrect
86435113105, Statement 1 is correct but statement 11 is incorrect

86435113106. Statement I is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643514364 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
QF6R Qa0 a9 QRIS
a2 1 : 2-fapm Quees KMnO, 98¢ @Id 626m 2-F21amQUesq-2-2n, Feq |
@@ 11 : nAREeg, KMnO, 98¢ A2a6a RI0d 62Ia ¢9 ¢92Ql UINERILREa J660 29 |
A0k Gwef Qg :
Options :
ae0 9@ I 9e° @@ 11 90q 266 |
86435113103.

86435113104, 9% @8 199° @9 11 R 266" |

3 1a0a Ge @8 T
86435113105, @® 190Q @3 @18 11 g 266 |

26435113106, @@ 1 65 @3 @@ 11 Q0K 26¢ |

Question Number : 45 Question Id : 8643514365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement regarding the formation of carbocations A and B given.

e
»> {:Ha - CHE - CH2 b CHE + Br_
L A’r

'CH-';— (:Hz —CH = LP:HZ + HBr

+
» CH; —CH;—CH—-CH;+Br™
dif 'B”
Options :

26435113107 Carbocation A is more stable and formed relatively at slow rate

86435113108. Carbocation B is more stable and formed relatively at slow rate

86435113109 Carbocation A is more stable and formed relatively at faster rate

86435113110. Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643514365 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

+
I’.I'A.H'

CH,—CH,—CH =CH, + HBr

.l_
> CHy— CH,—CH—CHj+Br~
n’.fB-'J’

98 RINERNERCIAE A 9¢° B fa0eq a0] aaf QIg -
Options :
86435113107, TOEGIERTIE A e 8o 99° dedldlas FlKl LiIkek G109 2 |

86435113108. @QEQNERC IS B 2@ 9% 99° UcUIIRY FI9] LIQER Q0 99 |

86435113109. RQEQNERCIDR A @ 45 9Q° UL IR FY YQER 07 24 |

86435113110 AEEQeaCIta B 2k 99 99° el IRe A9 Q06 109 @99 |

Question Number : 46 Question Id : 8643514366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£E Eney A R hi
Cy15H»0q7 +H,O0 —E 7 5 CoHy50¢ +CeHy506
Sucrose Glucose Fructose

s Enzyme B s -

Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435113111. IIIVEI'T.EI.SE El.ﬂ.d Z}’mﬂ.ﬁe

86435113112, Zymase and Invertase

R6435113113. Invertase and Amylase

26435113114, ymylase and Invertase
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Question Number : 46 Question Id : 8643514366 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CpHpOqp +H,0 —2™Me A € Hy»04 +CeHy204
Sucrose Glucose Fructose

CeHy,0,—22ymeB , 5, H,OH+2CO,

Glucose

RUERIS goadica IRRIGe A 99° B J2IQ6f 62R8T :
Options :

IRRREER 99° RIREAR

86435113111,
SICIER R 99° ORE060E
86435113112, TREAR " QEEGEIE
) rr_-,n :

86435113113, DAoQEETE, NQ° UFIREAE

I o° CIREE )
26435113114, DFINERE NG QREAETR

Question Number : 47 Question Id : 8643514367 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,
(A)
In the above reaction, the structural formula of (A), “X” and “Y" respectively are :

Options :
N; OCH,

1 ‘H -+ HC

86435113115. Cl
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N, OCHj,

T
;' CH3—C-H, HO

3 o

N 9
If] ; ; "

OCHj

86435113116.

86435113117.

l_

N, C
T
+  CH3-C-H ,6 HCd

OCH
86435113118. 3

Question Number : 47 Question Id : 8643514367 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OCH,

[?I |-?\]20(_| + (ZII =0OH EE— 4 N2+”x"+”‘[""
(A)

RUERIB GEFAER (A), “X” 99° “Y” @ @09q g5 J2AGER 6998 :

Options :
N; OCH,

1" 'H -+ HC

86435113115. Cl
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N; OCH,

F
! (“HH3_(--_H ; HZ{‘)

86435113116. Cl

N3 Cl-

ii::}::::_j;ZFAi:ff
: H [j H ’ HQD

OCH,4
86435113117. :

N, Cl—

@
g Ehs=C -1, HCl

OCH;

86435113118. :

Question Number : 48 Question Id : 8643514368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435113119, Chloroform and KOH

86435113120. Benzene sulphonic acid

86435113121, Par a-Toluene sulphonyl chloride

86435113122, Acetyl amide

Question Number : 48 Question Id : 8643514368 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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digfie, Y9109 19° 9o10Q ARG, FIRYe Q67 ILIR 68 2R FAKIRYIRS
Options :
26435113119, SR6RUITH e KOH

86435113120, 09 H% QRETINR Tg

26435113121 JIQISRNR ANCTITR, 6Q1RIRS.

86435113122, “44om 2IFlIGKE,

Question Number : 49 Question Id : 8643514369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1L

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (ii)  Artificial sweetener
(c) Sodium benzoate (i) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435113123. (@1, (b)-(it), (c)-(iv), (d)-(iii)
86435113124. (@)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

86435113125, (@) (1), (b)~(iid), (c)-(i1), (d)-(i)

86435113126, (@-(1), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643514369 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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IRl -1 99% eIael - 11 § a2 .
eIaR! -1
QRS edIdie

(a) QeIERIR, (i)
(b) Q4R RS AR 26 (ii)
(c) 6T 66T (iii)
(d) @Qauew (iv)

QA0 AEET QI -

Options :
86435113123. (@y(1), (b)-(i), (c)-(iv), (d)-(iii)

86435113124. (@)-(ii), (b)-(1), (c)-(iv), (d)-(iii)
86435113125, (@F(1v), (b)~(iii), (c)-(i), (d)-(1)

86435113126, (@-(i), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643514370 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :
Options :
86435113127. Aldohexose

26435113128, Ketohexose

86435113129, Pyranose

86435113130, [ieptose

Question Number : 50 Question Id : 8643514370 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TEQE 9L L8 CLAE :
Options :

QAR - 11
QLG 29
dreqdie 9RnIes
REN Aee
R19NE PR

ol e Elaia
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PIRERICRETIR

86435113127.
RERERES
86435113128, 7CI6HEHIE,
RIERIE
86435113129, I/ SHUEHIE
A=
86435113130. SREQe
Chemistry Section B
Section Id : 864351292
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351292
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514371 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is ___ 10%L (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514371 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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STP Q669 20 mL 6gJaa MR & 608 Jaslg A°6M caa8 102
(PREe gEaaien 1680 @)
[STP Qai6a 66 9@ 2Iad aHIQ QI6S §9é @ |
(R=0.083 L bar mol~! K~1, N, =6.023 x 10%)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643514372 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 > mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 101, (Round off to the Nearest Integer).

[Atomic Mass : K :39.1u, Br: 799 u
N , =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514372 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10~ >mole §6@%| SrBr, 210994 KBr 60 2Q6R0F @aIdiag | 1 g KBr 96@60 89l 6a0100e, T
AG Qe ceRd 104 | (Feeen gdasien afes «9)
(aeneae @29 : K:391u, Br:799u
N,=6.023x10% )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643514373 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%10~ ! BM. (Round off to the Nearest Integer).

[Given: 3 =1.73, /2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514373 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z=26) o §qof 299i6a gAa 21gd 2a8 ___x10"'BM
(Gacen gdaseiicn aa8e @)

[@8 : 3 =173, 2 =141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643514374 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is __u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm ™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 54 Question Id : 8643514374 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 molal K Fe(CN), 9da 2¢ daaiaada g 62@8 04 | 9219 QORI AW e L6l Go'el

Q@9 QAR 6QL2ER 181 BRE % A0, UFEHA1 AN A QFF | A Q CAIRNQ 99] 6298
u | (G960 gdaseien dade @)

[eea Qeel=10 g cm ™I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643514375 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N 204(g) == 2NO5(g)- The temperature at which K(_.=2{].4 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K ' mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514375 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d@aeq 9919 @8 N,yO4(g) == 2NOs(g)

Kc=204 99° Kp=600.1 69Q2QI Q971G 6908 K |
(Gacen gdaseuics 9866 @)

(Q0g QuIQq 2194 QU 6R@a 99° R=0.0831 L bar K~! mol 1)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643514376 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A KC1 solution of conductivity 0.14 S m~ ! shows a resistance of 4.19 ) in a conductivity cell.
If the same cell is filled with an H(l solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is x1072S m™~ 1. (Round off to the Nearest Integer).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643514376 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4@ 90QUe 6aRea 0.14Sm~! gEQ@el 29 KA 9949 cFq4or goaix 4190 | 99 HCl
296 %8 6ARER U6gE RRIKN PI6R6R 6EQI0R gbsaly 219 @f 1.03 Q 62ixar | HCl 9969
QfQ@el 69a8 x10"2S m™1!

(22600 gdarauiesn da6e @9)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514377 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.
For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor

of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514377 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

deQal 2A +B, — 2AB 9@ 6¢lR@ go@el | 9 oRa afifie goeee Gree 99 geqel a1ge
2IPER 298 K99 3 949 | goEd 9F 2109 Q09 c9R8
(Gacen gdaseuics a6€e @)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514378 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeC 13 with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514378 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

KOH 9219 99660 2QeIRaq 2¢, 996 FeCl, 96aal 9ial agie A 609 94 | QQle A 68 Fe @
YOER UG FERE

(Gacen gdaseuics 9869 @)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 59 Question Id : 8643514379 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H,,0O) is . (Round off

to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514379 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1@60IR. 6QFaN AE6EIgIRG 9Re geael @8 erdtw agme (CH,0) age @6a | 6adew
2QIeeen 6 aad C-C 9gl 9@ Q°¢yl 698

(Saeed gaasauics dade a9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514380 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O
| 0
=S i ‘ ‘ _
0.140 g 0388 g 0210 g
Consider the above reaction. The percentage yield of amide product is . (Round

off to the Nearest Integer).

(Given : Atomic mass : C :120u, H: 1.0u, N: 140 u, O: 16.0 u, Cl : 35.5 u)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643514380 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

N —

~al
+ (__bl l_qN] ICEI |5 —_— CﬁHS_C_N_{CHHE)E

0.140 ¢ 0.388 ¢ 0210g

QU6RIS JORASS 9910 @4 | AIFIee. 690 J0a9 Qg9 6268
(Gacen gdasaicn 9666 Q)

(@@ 2 Al @49 :C:120u,H:10u, N: 1401, 0:16.0u, Cl: 35.5 u)
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Mathematics Section A
Section Id : 864351293
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351293
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 8643514381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: : e LT =) 3 2 L
The number of solutions of the equation sin™ | x~ 4 = F Qo8 | X E = x*, for
xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :
Options :

86435113141, U

86435113142. 2

e

86435113143.

86435113144, nfinite

Question Number : 61 Question Id : 8643514381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
xe[—1,1] Qig, 9@° [x] @ 2d @I 9@ ARG LA x @ Y x 0If AIF Q@ x 92 AAIF AR

: j .
QFN@RE sf_n_l[xz I %} I cns_l[x" ;} = x2 Q QARG QG

Options :

86435113141, Y

.
86435113142, —

e

86435113143.

86435113144, 24919

Question Number : 62 Question Id : 8643514382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (pAq)®(peq) is a tautology, then ® and = are respectively given by :
Options :
86435113145, "
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86435113146, 7

86435113147. '

86435113148. 7

Question Number : 62 Question Id : 8643514382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QT QEAS 8% (pAg)@(peq) 98 €A, 6669 @ Ye° o KAIQEE :
Options :

86435113145, "

86435113146, »

86435113147. '

86435113148. 7

Question Number : 63 Question Id : 8643514383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
— M .Y M — A A A
Let O be the origin. Let OP =xi + yj kand OQ =—-1 + 2] + 3xk,x,yeR, x>0, be

=

I i e
such that l-’{;}‘ = +20 and the vector OP is perpendicular to OQ. If OR =3i + zj — 7k,

—> —
z € R, is coplanar with OP and OQ, then the value of ¥+ y? + 22 is equal to :

Options :

=

86435113149.

2

86435113150.

=]

86435113151.
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86435113152, ¢

Question Number : 63 Question Id : 8643514383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il

6898 O geaq 266 | OP =x

Fay M

M — A A A

i+yj—k 99 OQ==i +2j +3xk,x.yeR x>0,
N s = - ” . = P

64001@ [PQ| =20 9° OP @die OQ @€iw go @A | 99 OR =3i + zj — 7k, zeR, OP
s | o ¢ ) 2

4@° OQ 92 99 9719960 SQE0 222, 696 x~+i-+2z= @ (ImY Qe :

Options :

86435113149.

3

86435113150.

=]

86435113151.

86435113152, ¢

Question Number : 64 Question Id : 8643514384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 442
of the matrix |4 5.2

5 k

=

& o
is zero, then the value of k= is :

[ I

Options :

86435113153, ©

12
86435113154.

86435113155, 20
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86435113156, /2

Question Number : 64 Question Id : 8643514384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=B

'~

q
d@ x, y, z QISR 9OC 60 QPR 6 YIYQ ARG 22Q d, x # 3d, 9" AIE] |4 5.2
5 k

-1

Geafiaiga fay 0 26e, 6669 k2 @ F@Y 266 :
Options :
86435113153, ©

86435113154, ~~

86435113155. ©

=]
-2

86435113156.

Question Number : 65 Question Id : 8643514385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(m co 520]

The value of the limit lim 3 is r_-qual o
8—=0 s (27 sin™0)
Options :
1
86435113157, 4
1
86435113158, 2
1
86435113159, 4
0
86435113160.
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Question Number : 65 Question Id : 8643514385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: tan{m c mzﬂ‘_l
lim

B0 sin (27 sin”0)

Q QAR DR :
Options :

1
86435113157, 4

1
;
86435113158, 2
1
86435113159, ¢
0
86435113160.

Question Number : 66 Question Id : 8643514386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10sin 27rx] 1 -
If the integral %h] dx =ae "+ Pe 2 ++vy,whereaw, B, y are integers and [x] denotes
0 e*F

the greatest integer less than or equal to x, then the value of «+  + v is equal to :
Options :

86435113161. 0

=

86435113162, 10

]
=

86435113163.

86435113164.

Question Number : 66 Question Id : 8643514386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1

107 - g
sin 2mx w « "
lsin2wal o — e L+ Be 2 +y 94, 6060168 o B, y G8°al 99 [x] @ 2é,

x=[x]

g% aflae
0 e

[x] @ a1m4 9@ AQINS ‘E]ﬁ@”%ﬂi, x 8 el x Ol 49 @l x 99 el dIR | 6669 a B+y & elmY
el -
Options :

86435113161,
86435113162, 10

86435113163, 20

86435113164, 22

Question Number : 67 Question Id : 8643514387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

5/ 1/ 9/
2(x? 4 x)dy —y(x + x*)der= v dx, x > 0 which passes through the point

4
(L 1 3 1089_2] , then the value of y(16) is equal to :

Options :

86435113165.

G
86435113166. i

(% I %Iogeﬂ
86435113167. " ° : %

B
P Wy P
86435113168.
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Question Number : 67 Question Id : 8643514387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 2 5 1/ 9/
A9 egeqdl y=y(x) & 2(x" + x*)dy—y(x + x*)dx= 22" dx, x > 0 2QRR ANRAER

s 4 . :
Qﬂa@*@;ﬁ@*@q(l,l Elﬁhz]ﬂﬂGﬁmaﬁﬁmﬁrmmﬁyﬂﬁjaﬂﬁwQﬂP:

".

Options :

86435113165.

(2 - 2 1og)
3 3 e,
86435113166.

(% I —Iogt,_ﬂ
86435113167, g
4 il I —Iﬂgﬁ?_’r]
86435113168. g

Question Number : 68 Question Id : 8643514388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation

'Wis
3/

cosx(3siny + cosx + 3) dy=(1 + y sinx(3siny + cosxy + 3))dx, UEI‘EE, 0)=0. Then, i

equal to:
Options :
2log, {—’%ﬁ SW
86435113169. g
2 IngE ‘ﬁ l ’TW
86435113170. 2 )

68/89



3/18/2021

(243 +9)
EIGgE{J—T|
\ s

86435113171.

zmgﬁ{zﬁ | mw

86435113172. LI

Question Number : 68 Question Id : 8643514388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@9 cosx(3sinx +cosx +3) dy=(1+y sinx(3sinx +cosx +3))dx, 0 =x = % ¥(0)=0 2oaw

ACIRAEER 1@ QARG 99, y=y(x) DI, 606R ( aqg :

'__,_}l'_‘i

Options :

2log, {—’%ﬁ 8)
86435113169. G
EIngE[‘E l ?W
86435113170. .2
ﬂﬂgy{zﬁ 9 |
L 6
86435113171. :
zmgﬁ[zﬁ | 10}
86435113172. I L

Question Number : 69 Question Id : 8643514389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i

et ; g '[_ qm l W x|, x 2 0 s

Consider the function f: R — R defined by f(x) = {| i x] . Then fis:
| 0 , x=10

Options :
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monotonic on (0, =) only

86435113173.

monotonic on (— %, () only
86435113174. 3
26435113175, monotonic on (— o, 0) v (0, =)

not monotonic on (— %, 0) and (0, =)
86435113176.

Question Number : 69 Question Id : 8643514389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B - '(2 sm(lﬂ e — 3
oee f:R — R, 06086 29 f(x) = {\ x i) 6Qlh QPR @ | 6069 f BT :
| 0 = g — )

Options :

Jain LEIPER @ FI9e (99016
26435113173, °79 (0, ») UBQUFEA QLRERLT (NQEITT)

86435113174, S99% (— =, 0) YRAURER iael 21R(WaeIRR)

26435113175, (— @, 0) U (0, =) 2aQIeeq afiael Q217 (Neeee)

26435113176, (— %, 0) 9&° (0, =) ULAIFEQ FGRGI G218 G6w

Question Number : 70 Question Id : 8643514390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The value of
[r] + [2r] + ... + [n1]

lim
N—roo 112 !

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :

Options :

86435113177 ©
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r

86435113178, 2

86435113179, 2T

86435113180, U

Question Number : 70 Question Id : 8643514390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mﬂ[ﬂluﬂlg”l[m]QQMQﬂ@:

n—oo n

(6060160 r IR 2GR QLR a°al 9e° [r] 22 [r] @ R IR AR e, QI r 01 AR @
r 949 4eig)
Options :

86435113177 ©

r

86435113178, 2

86435113179, 2T

86435113180. 0

Question Number : 71 Question Id : 8643514391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with pmhabﬂit}-' of occurrence of 0 at even places be = and pmbabﬂit}-' of occurrence of 0 at

1
the odd place be 3 Then the probability that “10" is followed by ‘01" is equal to :

Options :

71/89



3/18/2021

=

86435113181.

- M=

86435113182.

0| =

86435113183.

86435113184, 18

Question Number : 71 Question Id : 8643514391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aeaa6 4@ @fiea 6gIgie Q@ AN IPER @HE‘J Eaem aT 082w 1q Qﬁ @ER | QLIP@En 0

= 1
Me° g ANewea 0 2w 92 6Lk 9eie 3 ceee ‘10" dea

pa| =

Ble Q8 62919 AAYE
‘01" Q8 629IR QUS| AAIR -

Options :

=

86435113181.

=

86435113182.

0 | =

86435113183.

86435113184, 18

Question Number : 72 Question Id : 8643514392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,

then the total number of triangles that can be constructed using these points as vertices, is

equal to:
Options :

86435113185, 260

86435113186. 364

86435113187. 333

86435113188. =)

Question Number : 72 Question Id : 8643514392 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A% 98 ABC @ AB, BC 99° CA dIge ZIQeid Qga°eil QaIges 3,5 99° 6 @49, 6069 1@
FrAIes 919 91 698 YR AAKINAIRAS GRENIFTE 6716 Qe QAR

Options :

86435113185, 260

86435113186, 0%

86435113187. 333

86435113188. 220

Question Number : 73 Question Id : 8643514393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x2+ y>=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :
125

86435113189, /2
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86435113190.

86435113191.

86435113192, 06

Question Number : 73 Question Id : 8643514393 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F6aae @9 R(3,4) 0169 98 x2+y2=25 g6 2&e 96 1-28 6 y-219q J2Ix6a P 9e° Q Ig0I6a
dd Q60 | 9% r 9@ Q80 AT 99 KIFI RGQ ‘O’ fl 698 96 A6R Ie° AIFIR 6aR, 598 OPQ
Q URERL 6DIRAN, 6669 r? QG :

Options :
125
86435113189, /2
625
72
86435113190,
529
86435113191, 2
585
86435113192, ©0

Question Number : 74 Question Id : 8643514394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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LetS,, 5; and S, be three sets defined as

S, = {zeC: z-1| =2}
S, = {ze C: Re((1-i)z) =1}
S; = {ze C:Im(z) = 1}

Then the set 5, M 5, M S5

Options :

86435113193. has exactly two elements

86435113194, has exactly three elements

86435113195, 1S a singleton

86435113196, has infinitely many elements

Question Number : 74 Question Id : 8643514394 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6a9Q S, S, 9e° 5; PREAIE 636 QNG

S, = {zeC: |z-1| =42}

S, = {ze C: Re((1-i)z) =1}

S, = {ze C:Im(z) = 1}, 4908 Q4 @AUARE |

6069 696 5,5, 5;:
Options :

06 Q@F Ldlelq e
86435113193.

0 el g ) \| \E‘,
86435113194, O ©760IC QQIQIR Ags

86435113195, 4@9@ @AIQIe S84

Q2 QU9 a4
86435113196. ~

75/89



3/18/2021

Question Number : 75 Question Id : 8643514395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e ™ *sinx. If F: [0, 1] — R is a differentiable function such

. X . 1 -
that F(x) = f(t) dt, then the value of jﬂ(F'{x] [ f(x}]eldx lies in the interval
0

Options :

5o 58]

86435113197. 360 360

'[32? E}
86435113108, 000 300

86435113199, L260 360

5o 50

86435113200. 360 360

Question Number : 75 Question Id : 8643514395 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A68QQ f: R — R 99989 f(x)=e *sinx 960 g@Id @aIdi | 9@ F: [0,1] — R 99 20a91g

_ y e |
gee 6d98& F(x) = | f(t) dt, eeee L(F'(x] Ff(x))e'dx @ gen Q2gQl 2RRIE :
0

Options :

5o 56

86435113197. 360 360

[32? E}
86435113198, -0 30

[ 331 334}

86435113199. 360 360
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{335 336—‘

86435113200, 00 360

Question Number : 76 Question Id : 8643514396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| = & & |
Thevalueof » ["C;-"Cg_,| isequal to:
r= 0
Options :

86435113201, 224

86435113202, 1024

",
86435113203. 1124

86435113204, 1324

Question Number : 76 Question Id : 8643514396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. ] Iy .
Y (°C - °Ce—r ) @ gau Q1R -
r= 0
Options :
86435113201, 924

86435113202, 1024

2
86435113203, 1124

86435113204, 1924

Question Number : 77 Question Id : 8643514397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

) x+1 |, - A, o ) x-2 =3 &% .
line = = and containing the line = = is

ax +py +yz=24, then a+ B + v is equal to :
Options :

86435113205, 21

86435113206, 20

86435113207, 17

86435113208. 18

Question Number : 77 Question Id : 8643514397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_ X l 1 H 3 A l 2 ] =} — = 4y o = - e
4% o 1 = 1 caelueEe (2, 3, 1) @9 dovl @8 i 69m JIedel Qren JIe
x—2 =3 z 4 > ) i
GEUEE 60 3 TR G e 1 ZQOHE Q919 ANRRE ax + By +yz =24 @9, 606Q at+P+y
aels -
Options :

86435113205, 21

86435113206, 20

86435113207, 17

86435113208. ha

Question Number : 78 Question Id : 8643514398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two tangents are drawn from a point P to the circle 22 yz 2x — 4y +4=0, such that the

T o i
angle between these tangents is tan ](?W , where tan ](%] € (0, 7). If the centre of the
/

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of AFPAB and ACAB is :
Options :

86435113209, 7 :4

3:1
86435113210.

86435113211, 2° 1

86435113212, 114

Question Number : 78 Question Id : 8643514398 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P 39 98 2 +12—2x—4y+4=0 96 900 2R CaKIRE | cU00R 2d Qaf ARG 6QI8

St c, e L . ~
tan ](EW 2160, 6JWO0IER tan T(%L 0,7) | 95 9aFe 682q C 69IR RSN 1e° 1@
A A

QIRAIER 989 A 1e° B @060 94 @08, 6069 29w APAB, @° 8% ACAB @ 6390 QIS
QA QA BI6e -
Options :

86435113209, 2+ 4

86435113210. o

86435113211, 2° 1
86435113212, 1114
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Question Number : 79 Question Id : 8643514399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = ;' in the interval [0, 27] is :

Options :

)
86435113213, =
86435113214, >

86435113215, 4

86435113216.

Question Number : 79 Question Id : 8643514399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2eala [0, 2w] filea QARAE x + 2 tanx = Q dllalia 9°aidl 26T -

>
Options :
)
86435113213, =
86435113214, >

86435113215, 4

86435113216.

Question Number : 80 Question Id : 8643514400 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

=1, then the value of b is equal to :

ot
I\J| -

5
LB
b

Options :

86435113217. 11

80/89



3/18/2021

86435113218.

86435113219.

86435113220. 2

Question Number : 80 Question Id : 8643514400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F6eaa 0A9a (QIRIERIRI) y2=4x—20 @ §Q (6, 2) Ol6a L 4@ 24Q 6adl | A& 1@ cadl L, aRiq

(eideq)

I\J| o

Options :
86435113217, 11

86435113218, 14

86435113219.

L
86435113220.

2
| L’T =1 g6 Ml 9@ 269 29, 6669 b @ FAY AL :
1

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351294
6

Online
Mandatory
10

5

20

Yes

1
864351294
Yes

Question Number : 81 Question Id : 8643514401 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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e

Let I, = j 3 (log/x)™ dx, where n € N. If (20)I; 5= aly+ Blg, for natural numbers « and j3,
1

then a— 5 equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514401 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

deeaa I, = rx” (loglx)" dx, 69610168 ne N | 9@ (20)I;y=aly+Plg, a 9° P GEQ Q¢
1

(I @) T, 6669 a—p AR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514402 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M ,n € N be the slopes of three line segments OA,

2

Let tanw, tanp and tany ; o, B, v #

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

y ’ : 3
and its orthocentre lies on y-axis, then the value of [ cos3a + cos3p + cos 3y

".

.
W is equal to
COS « COS 3 Cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 82 Question Id : 8643514402 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A6aaq 0G6gIE cadidd OA, OB 9@° OC @ 6g9fAee <2Ia6¢ tana, tanp 99° tany ;
; , 2n-T)r ds0lea ‘O’ oTR T 5 oae 5 i
a B, vz X T neN, 609060 ‘0 909 265 | 48 G99 AABC @ dd6ee ¢aeg ‘O’ 99

@dlN 99° CE R AR R (AAAIREe (96 Q) y-28 RJea 2QHe 24, 606Q

¥}

—

' 2
(cns 3a + cos3p + cos 31.11 a Ry QaIe
L%

Cos o Ccos 5 cos J
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643514403 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 1, log,y(4*—2) and L:}gm(-—l e ;W are in arithmetic progression for a real number x, then

the value of the determinant is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514403 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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s ' 18 ah el o .
Q@ 1, log,,4*—2) 9e° Engm({lx | EW, X Q4R Qe gad e Idee g 6a 928, 6069
LY J

geadiaida gmy aag

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514404 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the

variance of the new set is k, then 9k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514404 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 994 891 3n RAIQIT GF8 9@ 6999 FPI0 @9 | 9L I9ER FAF 2n YEQ AT PRI
6 99° ZQ9E n NG QG AIREE FI 3 | gaA 2n QAR Al AIFEER J6OYRER 1 6aIBIad G
29da n Q°ENQ GERIR AIeEE 1 Geaie @8 ¥a QI 698 fuIG KAIGRI | 9§ QB 63T
49048 k @69, 6069 9k QAR

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 85 Question Id : 8643514405 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] — R be defined as f(x)=ax”+bx +c for all x ¢[ -1, 1], where a, b, c € R such

1
that f(—1)=2, f(—1)=1 and for x € (— 1, 1) the maximum value of f"(x) is 5 If f(x) =«

x € [—1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514405 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aeeea f:[-1,1] - R 9068q f(x)=ax?+bx+c Q69 0G0Ee eauem | (09 xe[-1, 1],

W ——— L] ' 1
660I6R a b, c € R) 6998& f(~1)=2,f(~1)=1 99" x¢ (-1, 1) il f'(x) & AR N

269 1 98 f(x) =, xe[—1,1] , 6069 a @ QL7 IR QAR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514406 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
Let the coefficients of third, fourth and fifth terms in the expansion of {1 I ijw ,x70, be
o

X

in the ratio 12: 8: 3. Then the term independent of x in the expansion, is equal to
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643514406 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. a
x4 —2
'\ X

aRden x R2Q deF AAR

\n

,x£0Q gaeden 661, 998 @ 08A 00 ARG J26IQ ARG 12:8:3 | 666 @
g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514407 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

| min {[I | ﬁ_]JIEJ, i g |
flx) = :
| max \,E,x“}, D=x=1.

If the area bounded by y={(x) and x-axis is A, then the value of 6A is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514407 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I min {[x | 6_],3:2}, 3=x=0

aeaaa f:[—3,1] - R 9eaq flx) = 4@ g6g QuIKIGE

|max {vx, %}, i 1.

4@ x-28 8 y=f(r) YA LT CHER IYT@ A 24, 6562 6A Q gAY AAIR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514408 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes
x+y+z=0,Ix—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is
x2 yz t 22=0, then the value of [ —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

_s [ A A A

vector x is perpendicular to |3 i 2;'. Ir) and its projectionon a is 176 , then the value of
2
2
‘* is equal to
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Let A = [3 ;] and B = [;] i[[]} such that AB=B and a + d = 2021, then the value of ad — bc
C O
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